Warm-Up

Use the substitution method to solve the following system
of equations:
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Questions From Homework
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Solving Word Problems




Applications

Step 1: Read the problem (multiple times!)
Step 2: Define the two variables in the problem

Step 3: Set up the equations from the problem
(# equations = # unknowns)

Step 4: Solve the system of equations

Step 5: State your conclusion



A landscaping company placed two orders with a nursery. The first
order was for 13 shrubs 4 trees and totaled $487. The second order
was for 6 shrubs and 2 trees and it totaled $232. Determine the cost
of each.
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The admission to the fair is $2 for children and $4 for adults. On
Saturday one thousand people attended and $2800 was collected.
How many children and how many adults attended the fair?
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5
A pizza costs@more than a donair. If two pizzas and three donairs
cost $40, find the cost of each item.
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A total of $12,000 is invested in two funds paying 9% and 11% simple
interest. If the yearly interest is $1,180, how much of the $12,000 is
invested at each rate?
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Homework
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